Interactive Activity

1.1.1 Drag and drop. Identify and describe the network icons. We have a Router, modem and communications server. The Icons are a rectangular box with 5 dots in a row on the front edge, A flattened cylinder (like a thick coin) with 4 arrows, 2 pointing in 2 pointing out and a cube with 4 arrows pointing out, arranged so that they make up a squareThe descriptions are:

1: Device used to concentrate dial-in and dial out user communication

2: layer 3 device which provides internetworking and WAN interface ports

3: Device which can provide interface for voice grade services t1/e1 and ISDN.

1.1.5 Drag and drop. Configure the standard lab bundle using the dominoes.

In this exersise icons are dragged into the corrct order for the standard lab bundle. Icons are;

Router x 2

PC x 2

Ethernet link x 4

DCE serial link

DTE serial link

Swtich x 2

1.2.1 Drag and drop. Match the internal router component with its definition.

Items are:

CPU

RAM

Flash

NVRAM

Buses

ROM

Interfaces

Power supply


Descriptions are

Permanently stores startup diagnostic code and on some routers a minimal IOS

Connects the router to external media

Provides power to operate internal components

Holds routing table info, fast switching cache, running config and packet queues

Used for communication between the CPU and the interfaces and/or expansion slots

Executes instructions such as system init, routing functions and network interface control

Holds a full IOS image

Stores the startup config

1.2.6 Drag and drop. Connecting LAN interfaces

7 components

Router

Hub

Ethernet transceiver

RJ45-DB9 cable

Straight through cable

Roll over cable

Cross over cable

 Select the 3 components needed to make a LAN/Ethernet connection. Connect them up in the correct order in which they would be connected.

1.2.7 Drag and drop. Connecting 2 routers via a WAN serial link

We have the following equipment

Serial cable

DTE

DCE

Crossover cable

Rollover cable

Connect in the correct order and note which is at the telco end and which has the clock.

